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akka.conf

# .
# code : https://github. com psnmon/ AkkaFor Net Cor e/ bl ob/ mast er / AkkaNet Cor e/ Model s/ Message/ | ssueTr acker Mai | box. cs
# L)
ny- cust om mai | box {
mai | box-type : "AkkaNet Cor e. Model s. Message. | ssueTracker Mai | box, AkkaNet Core"

}

act or. depl oyment {
/ mymai | box {
mai | box = ny-cust om mai | box

}

using System

usi ng Akka. Actor;

usi ng Akka. TestKit;

usi ng AkkaNet Cor e. Mbdel s. Message;
using Xunit;

using Xunit.Abstractions;

nanespace AkkaNet CoreTest. Actors

{
public class MilBoxTest : TestKitXunit

{

protected TestProbe probe;
protected | Actor Ref mail BoxActor;

public Mail BoxTest (| Test Qut put Hel per output) : base(output)

{
/1 akkaconfig
/1 TestKitXunit
/] TestKitXunit.akkaConfig
Setup();
}
public void Setup()
{
Il Qa
probe = this. CreateTestProbe();
var mail boxOpt = Props. Creat e<Mai | BoxAct or >( probe) . Wt hMai | box(" ny- cust om nmai | box");
mai | BoxAct or = Sys. Actor O (i | boxOpt, "mynmail box");
}
[ Fact]
public void __ ()
{

/1 isBug fal se

I ssue nsgl = new | ssue("testl1l", true);
I ssue nmeg2 = new | ssue("test2", false);
I ssue nsg3 = new | ssue("test3", true);
| ssue nmsg4 = new | ssue("test4", true);
I ssue nmsg5 = new | ssue("test5", false);
mai | BoxAct or. Tel | (nmsgl);

nai | BoxActor. Tel | (nsg2) ;

mai | BoxAct or. Tel | (nmsg3);

mai | BoxAct or. Tel | (nsg4) ;

nai | BoxAct or. Tel | (nsg5) ;

for(int i =0; i <5; i++)
{
probe. Expect Msg<I ssue>(i ssue =>

{

Consol e. WiteLine($"Issuelnfo : Message: {i ssue. Message} |sSecurityFlaw {issue.
I sSecurityFl aw} |sBug:{issue.lsBug} ");



IO
}
/*
I ssuel nfo: Message: test2 IsSecurityFlaw True |sBug: Fal se
Issuelnfo : Message: test5 IsSecurityFlaw True |sBug: Fal se
Issuelnfo : Message: test4 IsSecurityFlaw Fal se |sBug: True
Issuelnfo : Message: test3 IsSecurityFlaw Fal se |sBug: True
Issuelnfo : Message: testl |IsSecurityFlaw Fal se |sBug: True
*/

}

public class Mil BoxActor : ReceiveActor
{
| Act or Ref notifyQa;
public Mail BoxActor (1l ActorRef _notifyQa)
{
notifyQa = _notifyQa;
/] Mai | BoxTest
Recei ve<l ssue>(i ssue => {
// Consol e. Wi teLine($"Issuelnfo : Message: {issue. Message} |sSecurityFlaw {issue.|sSecurityFl aw}
I sBug: {i ssue. | sBug} ");
notifyQa. Tel | (issue);
s
/11 nboxTest
Recei ve<string>(nmsg =>
{
if (msg == "hello")
Sender. Tel | ("worl d");
IoF
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